
 

The Time-Lock Adventure – Chapter 7 

 

 
 

Spelling, Punctuation and Grammar 
 
 

1. Choose the correct spellings to complete the sentences below. 

 

Although Mr Penrose’s house looked the same, things were 

noticeably/noticeibly different outside. 

 

Things had gone horrably/horribly wrong. 

 

The hour went by incredably/incredibly slowly. 

 

 

2. Underline the examples of the present perfect tense in the sentence 

below. 

 

“OK, but if we went back just a little in time and prevented that Dan 

from opening the door somehow, then we would never have tried the 

Time-Lock and we would never have gone time travelling.” 

 

3. Complete the sentence below by inserting a pair of commas. 

 

The dials spun as did the room and the stormy vortex took them 

away. 
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4. Tick one box in each row to show how the modal verb affects the 

meaning of the sentence. 

 

 
Sentence 
 

Modal verb 
indicates 
certainty 

Modal 
verb 

indicates 
possibility 

 
“Dan, listen. I don’t know what we did to 
cause this but we could, perhaps, sort it 
out so our time travel never happened at 
all.” 
 

  

 
“We just have to use our body weight to 
make sure I cannot open it.” 
 
 

  

 
“And by ‘sorted’ you mean we won’t be 
stuck in some time-travelling, reality 
nightmare, where there are two Dans and 
two Seths?” 
 

  

 
Dan and Seth might go time travelling 
again. 
 
 
 

  

 

 

5. What is the name of the punctuation mark used between the two 

main clauses below? 

 

Seth is very logical; Dan, on the other hand, has creative skills – such 

as storytelling. 

 

_____________________________________ 

 

 

 


